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Year 5

Arithmetic practice test 7
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Name:
Date:

1 18922 + 321 1 10 | 386 x 5
2 | 4882-495 1 111914 + 2
3 | +86=147 1 12 | 0.1- 0.03
4 |50-_ =32 1 13 |8 2
9 O

6 1,2 |15 [549 x 20

8 8 ; -
7 10.43+10 1|16 -
8 |77 1 17 (2.7 x 7.3
9 |05+0.3 ' 118 273,373-102,161

@SarahFarrellKS2




19 73,585+ 35,107 ‘ 28 (872 x 37
20 (5-0.07 ’ 29 (67.25 x100
21 (89 x 213 2 130 < of 36
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22 | = x 10 ' [31]103+ 10
23 (2018 x 5 ' |32 (584,831- 100
24 1306 + 9 1 33 (1,2
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58X5 ! 34 %of_is 108
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26 [653.6 mm in cm 35| =9=16
27 |150% of 38 f 36 36 = x 18

Things to work on for next time:
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Year 5

Arithmetic practice test 7

answers
9243 10 [1930 19 108692 28 |32, 264
4387 11 |457 20 |4.93 29 6725
71 12 |0.07 21 |18, 957 30 |4
18 13 |6/9 22 |30/5 @ 6/1 31 [113
35,000 14 |38,940 23 10,090 32 |584,731
6/8 3/4 15 [10,980 24 |34 33 |7/6 1/6
0.043 16 |1/20 25 |25 5/8 34 216
49 17 |19.71 26 |65.36 35 (144
0.8 18 171212 27 |19 36 |2
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